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1. Find the transfer function 7(s) = ¥(s)/R(s) for the following system (20%).
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2. Design the K value in the following system that will place the closed-loop poles as shown
(20%).
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3. Design the K value that yields 20% overshoot for a step input in the following system
(20%).
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4. For a unity feedback system with the forward transfer function G(s) =

design the K value to yield a 10% error in the steady state (20%).

R(s) + Ets) | C(s)
B G(s) =
5. For a unity feedback system with G(s) = 5 , design a PD controller to reduce
s(s+5)(s+15)

the settling time by a factor of 4 while continuing to operate the system with 20% overshoot

(20%).
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